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QUESTION: 65 
A customer has a DHCP server on the network and wants the Intel PRO/Wireless Access 
Point to be automatically assigned an P address from this server. What must you do to 
allow this capability on a new installation? 

A. You use the serial interface and enable DHCP. 
B. You first assign a static IP and then reboot the Access Point to enable DHCP. 
C. No configuration is required. DHCP is the default configuration. 
D. There is nothing you can do. DHCP is not supported on the Access Point. 

Answer: C 

QUESTION: 66
 
Which three attenuate RF signals the most? (Choose three.)
 

A. metal 
B. plaster 
C. concrete 
D. paper rolls 

Answer: A,C,D 

QUESTION: 67 
What is WEP? 

A. Wired Equivalent Privacy 
B. Windows Equivalent Privacy 
C. Wireless Equivalent Privacy 
D. Windows Equivalent Protection 

Answer: A 
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QUESTION: 68
 
Wireless infrastructure networking requires which two parameters? (Choose two.)
 

A. ESS ID 
B. hop sequence 
C. encryption level 
D. access control list 

Answer: A,C 

QUESTION: 69
 
What is the first level of security encountered when managing an AP?
 

A. ESSID 
B. 40-bit encryption 
C. 128-hit encryption 
D. system password 

Answer: D 

QUESTION: 70
 
What are two methods of loading an ACL on an AP? (Choose two.)
 

A. load an ACL from a file using Xmodem 
B. Telnet to the AP, then load an ACL file 
C. manually enter individual MAC addresses 
D. manually enter a range of MAC addresses 

Answer: C,D 

QUESTION: 71 
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Given:
 
MobileUnit 2 are out of range of each other.MobileUnit 1 and MobileUnit 2 transmit at the
 
same time and a collision occurs.What is this issue called?
 

A. multipath 
B. skin effect 
C. hidden node problem 
D. Differentiated Inter-Frequency Stability 

Answer: C 

QUESTION: 72
 
What do the periods in front of certain configuration options indicate?
 

A. The option can be saved to all APs with the same subnet. 
B. The option can be saved to all APs with the same ESSID. 
C. The option can be saved to all APs on the same subnet and same firmware revision. 
D. The option can be saved to all APs with the same ESSID and same firmware revision. 

Answer: D 

QUESTION: 73
 
What are two ways to deny access to a network through an AP? (Choose two.)
 

A. ACL 
B. CCA 
C. ESSID 
D. APID 

Answer: A,C 
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